
2.9 Geometric Proofs          Geometry 

 

Directions:  Fill in the blanks with the justifications and steps listed to complete the two-column proof. 

Use this list to complete the proof. 

 

   

1)  Given: 1 and 2 are straight angles. 

     Prove: 1  2 

 

   

Statements Reasons 

1.  1. Given 

2. m1  180, m2  180 2.  

3. m1  m2  3. Subst. Prop. of  

4.  4. Def. of  s  

 

 

 

2)  Given: 1 and 2 form a linear pair, and  

      3 and 4 form a linear pair. 

     Prove: m1  m2  m3  m4  360 

   

 

Statements Reasons 

1. 1 and 2 form a linear pair, and  

3 and 4 form a linear pair. 
1.  

2. 1 and 2 are supplementary, and  

3 and 4 are supplementary. 2.  

3.  

 
3. Def. of supp. s  

4. m1  m2  m3  m4  360 4. 

 

 
 
3)  Given: 𝑨𝑩̅̅ ̅̅ ≅ 𝑩𝑪̅̅ ̅̅  
      AB = 5 
      Prove: BC = 5 

 

 

 



 
 

4)  Given: 1  4 

     Prove: 2  3 

 

Statements Reasons 

1.  1. Given 

2.  2. Vertical s  Theorem 

3.  3.  

4.  4.  

 

 

 

5)  Given:  3 is a right angle. 

      Prove: 4 is a right angle. 
 
   

Statements Reasons 

1.  1.  

2.  2.  

3.  3.  

4.  4.  

5. 5. 

6. 6. 

7. 7. 

 

 

6)  Given: 𝑨𝑪̅̅ ̅̅ ≅ 𝑩𝑫̅̅̅̅̅ 
     Prove: 𝑨𝑩̅̅ ̅̅ ≅ 𝑪𝑫̅̅ ̅̅  

1 2 3 4 
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